AP P Ox
M 3-_“—.




_'Ifatlon = June 2024

- Chapter 6
NATION OF
NATIONAL INCOME

-1 ’- NATIONAL INCOME
; AccouNTl NG

o
M“"vj |7

MCQ Shastra — Volume |
(A ”‘lcro Economics)
by MVSIR




to a citizen of lndla wi

units solely situated in

The unit having >
economic interest in the
territory of the countr

year or more irrespective
nationality or legal status

A citizen household which hai
living in India during the accou
year and one whose econc
interests are solely in India
Households and business enterpris
composed of citizens of India aloi
living in India during the accounti
year

Read the following statements dnd

answer the following questtah.

I. Intermediate consumption

consists of the value of the
goods and services consumed
as inputs by a process of
production,
Intermediate consumption
excludes fixed assets whose
consumption is recorded as
consumption of fixed capital.

production of @geé
they are meant
and leisure time'ae
those which resulth
self consumption &
included in
calculation

Only | is true
Both l'and Il are true
Only Il Is true
Neither | nor Il is true
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: ICAl sM i ICAI SM
of ﬁw'hf:nu:ﬁrgldgu not ||| 15 | The basis of distinction between
r Into t culation of market price and factor cost is
i tional Income? arket price facto cmt :
J!lﬁ - r » a) net factor income from abroae
s) Exchange © previously  produced b) net indirect taxes (i.e., Indirect: taxes
oods - - Subsidies)
gxchange of second hand goods ) net indirect taxes (i.e, Indirect taxes
;) Exchange of stocks and bonds + Subsidies)
4) All the above d) depreciation ( consumption of fixed
= Capital) ‘
A ICAI SM —
" | which of the following enters into - ICAl SM
7 | the caleulation of national income? 11 | 'f net factor income from abroad is
a) The value of the services that positivc,m :
accompany the sale a) hational.income will be greater than
b) Additions to thventory stocks of domestic faetor incomes.
final goods and materials . b) national income will be less than
¢) Stocks and bonds sold during eth domestie factor incomes.
current year ) net exports will be negative
d) (a) and (b) above d) domestic factor incomes will be
greater than national income
ICAl SM
P Gross National Product at market weahies
prices GNP MP s 12 | The GDP per capita is
a) GDP MP + Net Factor Income from a) a measure of a country's economic
Abroad output per person
b) GDP MP - Net Factor Income from b) actual current income receipts of
Abroad persons
¢) GDP MP - Depreciation ¢) hational ihcome divided by
d) GDP MP + Net Indirect Taxes population
d) (a)and (c) above
ICAl SM
ICAl SM
9 | Choose the correct statement
Which of the following is an
: e example of transfer payment?
A GNP includes earnings of Indian y ¢
corporations = overseas and Indian
residents working overseas; but GDP
does not include these a) Old a i :
ge pensions and famil
b) NNPFC = National Income = FID pensions ¥
(f“CFO:" iIngome earned in domestic b) Scholarships given to deserving
0 territory) ~ NFIA. . diligent students.
Capital © goods and inventory c) Compensation given for loss of
INVestMeént are excluded from property due to floods
d CoOmputation of GDP _ d) All the above
) NDPMP = GDPMP + Depreciation

Anish Vora (M%lk)
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N
N il ICAI sm I
ian cross diagram, the ik ey

Under uatibn c= : by b=0.8,
which € aggreqq - af - 2
'i,‘o' B o theg 4: 11 | what is the value of 2 sector

e ; e line indicates cr: expenditure multiplier?

41 B : — il a) 4 ‘
1o level of full employment thcome. b) 2 tope
) tess than full employment ltevel of c) s
18 gquilibrium level of tNCOmMe  which il
Il may or may not be fy|| eEmployment
1l tevel of income
il ) autonemous level of Income which
\ may net  be  fyll employment
| level of income

| e ICAl sMm |
[ & closed economy, aggregate
110 | demand is the sum of

i @) consumer expenditure. demand for
1l a

e

Il exports and government spending.

; , ) consumer ex.;\emtétur.e, planned

¢ mvestment spending and ||
| government spending. !
Q) consumer expenditure actuatk '
i mvestment sPending, government i
| spending and net exports.
1A consumer expenditure planned||

nvestment spending,

&

governmant

| spending, and net exports

sﬁ € 9 * () |10 ‘l (b) l 11. @ |
S | | |




oundafio;n Eitine 2024

e Ssl.Efconomics

Busine

c:hap'tfér 7
PUBLIC FINANCE

Unit 1 - FISCAL FUNCTIONS
AN OVERVIEW, CENTRE AND!
STATE FINANCE ‘

MCQ Shasteglimin/o | 1o |
(Micro Economics)



ICAI SM
4 | Choose the correct statement
. ICAISM ||| @) Fiscal policy involves the use of
ST = changes in taxation and government
Redistribution policies gre likely to spending; while monetary policy
1 | have efficiency costs because involves the use of price and profit
- . controls.
a) ggizm\ﬁgn;duce Fne efficiencyfof b) Fiscal policy involves ‘the use of
G - rice and rofit _controls; while
b) Thoe‘}; ay:;ysaszeate disincentives to fnonetary poﬁcy ihvolves the use of
0 governments have to forego taxes taxation and gqverr(}menisgezil:gbf
d) They are likely to make the poor ¢) Fiscal policy e, A2 e
le dependent on the rich chang‘es tn taxation and governm 2
peop spending; while monetary policy
. involves the use of changes in the
ICAI SM supply of money and interest rates.
| S d) Fiscal policy. involves the use of
. s ok changes in the supply of money and
y Macroe_zconomtc stabilization may interest rates; while monetary
be achieved through policy involves the use of changes in
taxation and government spending.
a) Free market economy ICAI SM
b) Fiscal policy ——=— >
¢) Monetary policy 5 The Justl_ﬁca.tlon for government
d) (b) and (c) above tntervention is best described by
a) The need to prevent recession and
inflation in the economy
b) The need to modify the outcomes of
ICAI SM private market actions
c) The need to bring in justice in
distribution of income and wealth
Which of the following policies of D Al the above
3 | the government fulfils the Read the followin .
o, e y g statements:
redistribution function 1 0 The market-generated
allocation of resources s
I usually imperfect and leads to
inefficient allocation of
resources in the economy
6 | 2. Market failures can at all times
a) Parking the army on the horthern be corrected through
borders of the country government intervention
b) Supply of food grains at subsidized 3. Public goods will not pe
Prices to the poor people produced in sufficient
c) Controlling the supply of money quantities in a market economy
through monetary policy Of the three statements above:
Y All of the above a) 1,2 and 3 are correct
b) 1 and 3 are correct
¢) 2 and 3 are Correct
. - d) 3 alone is correct 4
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ICAl SM

When a government
unemployment benefits and also

offérs

7 | resorts to progressive  taxation |
which function does it seem to
fulfill? |

a) It is trying to establish stability in

b)
c)

d)

an economy
It is trying to redistribute
and wealth
It is trying to allocate resources to

their most efficient use

It is creating a source of market

failure

income

a) to the industries whieg
losses due to the introg
b) to compensate for the (g
GST on essential items
c) to the states to com
loss of revenue
introduction of GST .«
d) to compensate for thel
tax credit in manufact

ICAl SM

Government of Emeline Land
decides to provide most modern

it i

Which of the following
respect of the role
Commisswns in India?
The distribution betw
and: the states of the
of taxes ‘

‘i'Allocatlon between

/ Recommende
integrated GsT on
movement of goods a. d

To | recommend
decentralization amoi
states

& road infrastructure throughout
the nation. This can be classified as
a) Distribution function
b) Allocation function
¢) Stabilization function
d) None of the above
ICAI SMZ
Which function does the'-"
9 government perform when lt
provides transfer payments to offer
support to the underprwuleged
a) Allocation
b) Efficiency

d)

Distribution
None of the above

a) | and Il are correct

b) ll and lll' are correct
¢) 1,1l and lll are correct
d) All the dbove are correct i

]
i

i
Y 4‘,1
e

ICAI SM

Which of the. followmg is true in

10 | respect of  centre and ‘ 1state
government finances? i
a) The centre ican tax agrlcultural
income and mineral rights
b) Finance commission

c)

d)

recommends

distribution of taxes between the

centre and states

GST subsumes majority of direct
taxes and a few indirect taxes
IGST is collected by the

state
governments |

Making pdfs, photocopies, X€rox, sharing or

I a federal set
/13 | stabilization function
| effectively performed by

a) Respective state governme
b) Ministry of taxes

¢) The government at the Ce
d) None of the above :
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ICAl SM

ICAl SM

2 of the following is concerned
" division of  economic
onsibilities  between the

and state Government of

Which of the following is not a
criterion for

18 riter determining
distribution of central taxes
among states for 2021-26 period

a) Demographic performance

ICAI SM

Federalism

refers to

154 i

a) organizing and
development plans

p) Sharing of political power between
centers and states

») The management of fiscal policy by
a hation

1) Division of economic functions and
resources among different layers of
the government

implementing

ICAl SM

b) Forest and ecology
¢) Infrastructure performance
d) Tax and fiscal efforts
ICAl SM
19 | As per the supreme court verdict in
May 2022
a) The union has greater powers than

b)

c)

the states for enacting GST laws

The union and state legislatures
have  “equal, simultaneous powers
“to . make laws on Goods and
Services Tax

The union legislature’s enactments
will' prevail in case of a conflict
between those of union and states

I Corporation tax

I Wealth tax
lncome tax
None of the above

ICAl SM

1e percentage of share of states in
central taxes for the period 2021-

26 recommended by the Fifteenth
_| Finance commission is

38 percent
41 percent
2 percent

The €OMmmission has not submitted
(ts report.
S

d) The state legislatures can make
rules only with the permission of
central government

ICAl SM

20 Providing social sector services

such as health and education is

a) the responsibility of the central
government

b) the responsibility of the respective
state governments

c) the responsibility of local
administrative bodies

d) none of the above

ol e G T R | i+
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i cAl SM

which of the followin
$ argument for provi i
: good by government?

1)

[0

d)

3.

‘Market failure’ is a situation
which occurs when

private goods are Nnot sufficiently
provided by the market o
bublic goods are hot sufficiently
provided by public sector

The m\:rkctp fail to form oOr they
allocate resources efficiently

(1) and (¢) above '

Governments have huge )

their disposal =
public goods will nevepse
type of externality 1
Markets are ‘unlikely ¥g
sufficient quantity of py

provision of public goods
profitable for any gover

ICAl SM

Which of the following is an

example of market failure?

Adequate amount of ' SUre ¢
& | good will not be provide
private market because

Prices of goods tend to rise because

of shortages

the possibility of free riding
the existence of very lowh
. low profits

b) Merit goods are hot sufficiently o) \governments would
produced and supplied ‘ Se'broduce them, so theke
¢) Prices fall leading to fall in profits [} overproduction -

s u.lnd clg%ure of firms ") there are restrictions as '(dFr
| d) None of the above taxes on Pf'OdUCtiOh of public '
ICAl SM |

& Wi -
w . ‘1 . 1] ‘]E X - —
3 oul;;comeo;‘f the followm?g_{;wlsﬁ an ' The free rider problen
market power? = = 7 Bécause of
a) makes price equal to marginal cost ‘ e .
and produce a positive ‘external 2 al;;l;cy ff Pa?’b!c‘l{i‘ant[s
benefit on others ~ b) g ;aulzero frardii sy
b) can cause markets,to be efficient mcllrgma beneﬁi
due to reduction in.costs . , calculated due  to
¢) makes the firms price makers and BlEgeent L )
restrict output 'se' as to make €) the good or ehbagle
allocation ineffiecient d) general poverty and unem
\D kb\ JHCKC) above Of people

4 Markets do not exist

ICAl SM

b)
c)

d)

goods which have | positive
externalities

for pure public goods

for goods which have

T hegative
externalities ' €9 I

| A chemical factory
g | information regarding the
a product, but continuese
This is possible because ¢

!

none of the above |

Making pdfs. photocopies, xerox

a)v
b)
c)

asymmetric information
moral hazard
free riding
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ICAI SM

¢ an individual tends to drive his

'car in a dangerously high speed
pecause he has a comprehensive
insurance cover, it is a case of

e riding
freoral hazard
or upbringing

1)
7) mo
5 P efficiency

13 | you suggest for reducing
externality? N

a) Production subsidies
b) Excise duty

¢) Pigouvian taxes

d) All of the above

5 smoking in public is a case of
L

) Negative consumption externality
| Negative production externality

) mtemalising externality

) None of the above

14 | A Pigouvian subsidy

) i
T ICAI SM

P

Read the following statements

I. The market-based approaches
to control externalities operate
through price mechanism

Il. When externalities are present,
the welfare loss would be
eliminated

Ill. The key is to internalizing an
externality is to ensure that
those who create the
externalities include them
while making decisions

11

a) cannot be present
externalities are present ;
b) is a good solution for hegative
externality as prices will increase
¢) is not measurable in terms of m
and therefore not practical
d) may help production to be sociall
optimal when positive externalitié
are present ’

If governments make it com
15 | to avail insurance protecti
because

) Il and lll are correct
) lonly is correct
) llonly is correct
) Land lll are correct

2 | Which of the following statements
~ | is false? ‘

a) Insurance companies need to.
runhing profitably b
b) Insurance will generate me
hazard and adverse selection =
c) lnsurance is a merit good @
government  wants  people -
cohnsume it :
d) None of the above

) Tradable permits provide incentive
to inhovate and reduce negative
€xternalities

) A subsidy on a good which has
substantial  positive externalities
would " reduce its cost and
Consequently its price would be
lower

)Substantial hegative externalities

are involved in the consumption of

Merit goods.

Merit goods are likely to be under-

Produced and under consumed

w market mechanism

The Competition Act, 2002 a

16

il
PRl

a) protect monopoly positions of fil
that  have  developed  unie
innovations E

b) to promote and sustain competit
in markets 5

c) to determine pricing under natdl
monopoly. i

d) None of the above

SKing pifs, photocopies, xerox, sharing or selling MVSIR's books is not allowed. It will lead
i to strict legal action with monetary penalties




ma)‘ket based poli.
' .‘v‘ ves the government , 4§

‘the €ost to the firme f“ \‘
Ote the PYOduCt[o n
‘-,mg pOSIt(ve externa([tle

to externalities .
b) Is a method of solving
of public good =
¢) May help solve mark:
information failure
d) Reduce the problem of r
the product market

=

i)
Q
0
=S5
©
=
o
S
B
~
o
s
Q0
®
Q

18

a) A minimun’i

b 'more than o
agricultural

Ptimg

; be (ess than optimgl

farmers.
b) An externaltty is mjc
Ohes that generat e
mcorporate them :

subjected tgf
er ttOh by government
Jand c) above

c) The production a

than optimal undp"'
d) Compared to polluti
and trade i
administratively
to 1mp(ement
po(lutton (s min

for

19

a) Is a case o
b) Is a case of

c)
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owing statements 24 **«-MM_.'CA.,' Mi

Il costs are the total costs qoverﬂ'ﬂe"t failure vecyrs when

d by the society when ¢ a) Govemmmrf‘a_ﬁf to W acnsas

‘is consumed or produced. election prr)mi'_;\e'*.’ (,});:f/p/-',j/f?”'q"it e
xternal costs are not b) A government i ',N,(;'!L",

R s At > Undble to  geg

tements or consumers’ c) Government interyention I

j ineffective and producz;',“’—,r;g;/, ar:;

__ cost which s more serious problems i

dered for determining d) None of the aboye

ut‘ would be only private s
- or direct cost of
uction which does not

isions are efficient only
en private costs are
sidered

| of the above

’a)-iStatements | and Ill are correct
h) Statements L1l and lll are correct
¢) Statement | only is correct

d) All the above are correct

Answer Key —Chapter 7 (Unit - 2)

G b (Bl | 4| & | s | ©

8. (a) 9. | (b) ‘1o. (a) 11. l (d)

14, (d) 15. (c) 16. (b) 17. i‘ (c)
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deficit of a dovernment and its
debt service payments s

‘ccal deﬁci’g
7 Budget defiit
b) primary deficit

/) None of the above

c)
d)

ICAl SM
5 In NITI Aayog, NITI stands for
ICAI SM a) National Initiative for Transforming
India
The difference between the budget b) National Institution for

Transforming India

National Institute for Technology
and Innovation

None of the above

ICAI SM

Lo,

L ; _ 6 | The Appropriation Bill is intended
The following hypothetical figures relate to
A :
to country Rs. Crores ||| @) reduce unnecessary expenditure on
the part of the government
meceipts 20,000 b) give authority to government to
Re theur expenditure from and out of
Recovery of loans 1,500 the Consolidated Fund of India
sorrowing 15,000 ||| c)-give authority to government to
Receipts 5000 (ncur expenditure from the revenue
Yol : y receipts only
Expenditure on revenue 241200001 Sdbe passed before the budget is taken
account for discussion
Expenditure on capital 26,000
account ICAI SM
Interest payments 2,000 7 | Public debt management aims at
ICAI SM a) An efficient budgetary policy to
‘ AL : avail of domestic debt facilities
2 | The revenue deficit for country A is b) Raising loans - from internationtl
a) 5,000 agencies at lower rates of interest
b) 24,000 ¢) Raising the required amount of
) 4,500 funding at the desired risk and cost
|| 9) None of the above levels . :
Ea— d) Management of public expenditure
; ICAI SM to reduce public debt
3 l Fiscal deficit of country A is ICAl SM
a) 14, ! :
b) 24 888 & | The railway budget is
©) 23,000 ] i it ,
4 Nonhe of + a) Part of the general budget, but is
——_ W' above presented by the railway minister
ICAl SM b) Part of the general budget from the
; — budget for financial year 2017 -18.
Primary deficit of Country A is c) Part of the general budget from the
%) 26,000 budget for financial year 2021 -22.
b) 25'500 d) Part of the general budget but
c) 221000 presented on the next day of the .

general budget

akj : . : T 2 P T
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CA Foundation June 2024
IcAl SM ||| The following tabl
; ~and expenditure fi
9 Outcome budgeting [ economy
a) shares information about the money - l
allocated for various purposes ih a :
budget (a) | Recovery of lo
b) establishes a direct link between |[|(b) | Salaries of govt:
budgetary allocations and : .
C E CUrE
performance targets measured (G| CapitaliExb higumy
through  output and outcome |f|(d) | Interest paymen
indicators : , (e) | Payments tow
c) establishes a direct link between
budgetary performance targets and ||| (f) | Other receipts
public account disbursals disinvestment) |
d) shares information about public @ | Tax revenue (ne
policies and programmes under the share). ©
DUdget = —
(h) Non-tax revenue
ICAL SM I (i) | Borrewings and ot
10 | Corporate tax  Ngghlities -
a) is collected by the union (i) [iStates’ share in ta
government and can be a capital 7 ‘ i
receipt or revenue receipt %va sl S
b) may be collected by the respective ‘g;kﬂz‘ The capital receipts a
states and fall under revenue"|lFE——= e
receipts a) 23.5
c) may be collected either by (the b) 19.7
centre or states and fal( uhde)’ )13
revenue receipts : d) None of the above
d) is collected by the W u,mon
government ahnd is a revenue receipt Hy §
—(| 18 | Revenue deficit iSj
¥l o IGALSM :
. a) 23.6
D, e ! ‘ b) 13.0
Government borrowings  from c) 7.0
11 | foreign govern\_ments. and d) 2.6
institutions S ;
.
a) Capital receipt 14 I:les c’:ﬂ;’;‘::';: caty
b) Revenue recelpt )
c) Accounts for fiscal deficit a) 45.1
d) Any of the above depending on the b) 16.7
purpose of borrowing c) 15.8
d) None of the above

Making pdfs, photocopies, xerox, sharing or selling MVSIR's books is not allowe
to strict legal action with monetary penalties
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ICAI SM ICAI SM
'p'ada"t is said to be unbalanced 19 Govern'ment borrowing is treated
as capital receipt because
: governmeht’s revenue exceeds a) It is mainly used for creating assets
whet ment’s expenditure by government
govern government’s  expenditure b) It creates g liability for the
) Whezds government’s revenue ~ government
gxcheer pudget surplus of budget ¢) Both a) and b) above are correct
Zletﬂcit ocecurs d) None of the above is correct
1 All the above
V ICAl SM
/
ICALSM 20 | ‘Retail Direct ‘scheme is
16 riscal deficit refers to a) Initiated by the Reserve Bank of
the excess of government’s revenue India ' |
expenditure over revenue receipts b) faahtgpe thvestment in government
the excess of total expenditure over securities by individual (nvestors.
total receipts excluding borrowings ¢) Direct sale of goods and services by
o) Primary deficit - interest payments goverhment departments
/) None of these d). Both (a) and (b) are correct
| A i
T ICAI SM ICAI SM
e Budget of  the government 21 | Non-debt capital receipts
giieially impaces a) do not add to the assets of the
g) the resource allocation in the government and therefore not
economy treated as capital receipts
b) redistribution of income  and b) are those that do not create any
enhance equity future repayment burden for the
¢) stability in the economy by government
measures to control price c) are those that create future
fluctuations liabilities for the government
d) all the above d) facilitate capital investments at low
cost
ICAl SM
ICAl SM
| Which of the following is a
18 | Statement submitted along with 25 Which of the following is a capital
the budget as a requirement of receipt?
FRBM Act
W .
9 Anhual Rl taceinent a) Licence fee received o
) Macro O o or P ATl b) Sale proceeds from disinvestment
\ Statement c) Assistance from Japan for covid
¢) Med; A e vaccine
Figg;ti‘ygc;l-irsrrgt age yrolicy tcum d) Dividend from a public sector
d) (b) y Strategy Statemen enterprise
and (c) above

. Photocopies, xerox, sharing or selling MVSIR's books is not allowed. It will lead
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Jndmwmg the taxes sl
Qg )
the dggregote dermany
‘Decreasing tores to
gsposable income
Creasing goverarners
d increosing to es
one of the abo e

1 mc‘a'l policy refe

B ao sl et Y L

d) use of  governments s
Laration and borrowing to. inf
the level of economic activits

b) government activities relate
of government wendmg,
of essential goods .

£) use  of  government
taxation and borrowing fi
the fizcal deficite

d) and (b) above

IR il ST

9 ‘ i
’/:u

!f/lp

W to Keyhesran
e have inflation an e
‘wolicy shoum not :m(

re ,l s¢ corpora te tayers

If real GDP
declining and
2 unamplaymmt

Increasing, the
should be to

aﬂe gOV"fﬂf{.”n; /}/f e (’
ne of the above iz corrocs

e s

d) Increase taxes and : 4
government spending 7 gcal policy con have yer, o

b) Decrease both taxes and : 744 5 effects in altering jaored
pr-rudmg ety L 1 b G err Viont and ool

e) bm"rr',a taxes nd : mahd Iployment o JUtpug
qr;wfrnrmmt spending

d) Either (a) or (¢) 7

\

IS OPpEeEratin

/he there i: a ,
mulug o demand fizco

Wages adre flexible or
oL mes.s fluctuam/;
cycle?

a) Rising uncmpl
b) Falling umr,mpjg‘;gﬂ
c) Rising inflation
d) Deflation
e¢) Fallingiwer
wWorkers. f’"m
f) Mrrea;mg tax reve
g) mllmg % rever’y ¢
h) A, % and
i) B, CandF are.
i) D, EandF are

: in go\/rfrm‘r” 4
rﬂ decrease in taxes jind

in govcrrm ent

% ».1:; above
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‘creasmg taxes

b) government activitie
- 2 of the above

of government spe
of essential goods
c) use of governm
taxation and borrow
the fiscal deficits
d) and (b) above '

we have inflation apn o4
olicy should not ine|yg

se corporate taxes.

e dgoresate dermang.
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c) use of government
taxation and borrowing for.,

~ the fiscal deficits, g
d) and (b) above

increasing government expe
nd increasing taxes

“to Keynesian eco
‘have inflation an eff
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which one of the following is an
9 | example of fiscal policy?

A tax cut aimed at increa;ing the
disposable income and spending
) A reduction th ~ government
b expenditure to contain inflation !
¢) An increase n taxes. and decrease in
government expenditure to control
inflation
4) All the above

e

ICA| SM
Which statemens 7o

(s) is (are
correct abouyt crowdi e

hg out?
I. A decline in private spending
may be partially

or completely
offset by the expansion of
demand resulting from an

increase in government
expenditure.

Crowding out effect
hegative effect fiscal policy
may generate when money
12 from the private sector s
‘crowded out’ to the public
sector.
When spending by government
in an economy  incredses
government spending
would be crowded out.
IV. Private investments, especially
the ones which are interest -
sensitive, will be reduced if
interest rates rise due to

. is the

b) The time required to identify to pass
a legislation

¢) The time required to identify the
heed for a policy change

d) The time required. to ‘establish the

| Outcomes of fiscal policy

increased spending by
[ 3 ICAI SM government
Which of the following would ||| ) | and (1 only
01 illustrate a recognition lag? b) 1, 1l, and I
c) I, 1, and IV
a) The time required to identify the d) 11l only
appropriate policy

ICAI SM |

[ ——

izt Sl ' ICAl SM

__Anf- equnéfbhary fiscal policy,

| taking everything else constant,
| would in the short-run have the
_| effectof - ,

11

Which of the following policies is
likely to shift an economy’s
12 aggregate demand curve 3
to the right?

) a relative arge increase in GDP and
o) *Mallerincrease in price .
4 '%ﬁl‘dtwe large increase in price, a
0 L‘;gﬁwety smaller increase in GDP
L sDP and price will be increasing
oF . ame proportion

: DP and price will be increasing
N adsmaller proportion

a) Increase in government spending

b) Decrease in taxes -

c) A tax cut along with increase (#
public expenditure

d) All the above

akj
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14 | Identify the incorrect statement

)

a) A progressive direct tax system
ensures economic growth with
stability because | it distributes the
burden of taxes unequally _

b) A carefully planned policy of public
expenditure helps in redistributing
income from the rich to the poorer
sections of the society.

c) There are possible conflicts between
different objectives of fiscal policy
such that a policy designed to
achieve one goal may adversely
affect another

d) An'l /i Incredselitiiny . Ehelii’size . iiof
government spending during
recessions may possibly ‘crowd-out’
private spending ih an economy.

Whilei resorting

16 fiscal policy

budget surplus L
expenditure will bring more
and more tax revenue
b) the government may
budget ' deficits because
reduce government incoriousms
government expenditures ol
revenues in a given year
c) it is important to have qiES
budget to avoid inflation giHm.
in stability k
d) Nonhe of the above will happef

17 | Contractionary fiscal policy

[

ICAI SM /

Read the following statements T

I. Fiscal policy is said taf«ffrbe
contractionary when revenue
is higher than spendmg(, l‘e.,
the government badget'r’ fis m
surplus;: i ases: . ;m o

Il. Other thmgs constanﬁ, a flsca(
expansion will raise interest
rates and "'cqud out” some
private mvestinent' e

Il. During mﬂation hew t;axes can
be levied "andf,», the rates of
existing taxes are rcused to
reduce disposable i incomes,

IV. Classical economists advocat’ed

15

solve the problem of mﬂatton
Of the above statements ;

a) 'ts, resorted to when ¢
expenditure is greater
revenues of any particu

W b) increase the aggregate

# ' sustain the economy

¢) to increase the disposabl
people through tax
enable greater demand

d) is desighed to restrain t
economic activity of tl
during an inflationary 1

|

18 | deliberately reduced tc

When government .spending

stability

contractionary fiscal policy to"’.;

a) | and Il are correct

b) I, Il and lll are correct
c) Only lll is correct

d) All are correct

’b) the

a) the government is
Contractionary fiscal ¢
government (s
expansionary fiscal polic
c) trying to limit aggregc
. Sustainable levels
d) (a) and c) above
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" increase in personal income | Which of the following fiseq(
g ' 21 remedy would You advice whep an
19 | taxes ' T economy is facing recession ;
uces disposable incomes leading ———
a) "ed?a“ ih consumption spending and a)
to regate dema‘hd ; '

.ag%esimble during inflation or whep
is

the government

may cut (hterest
rates to €ncourag

€ consumption and

(hvestment
is excessive levels of aggregate b) the government may cut taxes tg
thﬁmn (ncrease aggregate demand
.deY:: compehsate the denﬁciency lh C) the govel"l’lmel’lt h’lay fO
¢) is

Howapolicy
effective  demand by boosting

of balanced the budget.

aggregate spending d) None of the aboye will work
4) both a) and b) are correct
| &/

T

ICAl sm
LealisM While if governments Compete witH%f
While the government resorts to 22 | the P"tvate_sector torzso‘:::‘\;\; ?o?zﬁ_l
deliberate fiscal policy it may not for S?C“fmg_ ! i
w attempt to manipulate €xpansionary fiscal policy
i i a) it is likely that interest rates will go |
) qovi;nment o i up and firms may not be willing to
wor .
i taxes Invest ' ,
%) ng ggf;émoieptzr;g;al AR b) it is likely thgt i_nFerest rates will go (|
c) government expenditures on goods uUp and the thdividuals too may be
ervices purchased by reluctant to borrow and spend . :
SQ\C/‘ernr;eht c) itis likely that interest rates will go |
i ilinag i Up and the desired ihcrease th |
d) The rate of (nterest prevailing in the AR Lo may oo
=kl realized
d) All the above are possible.
T B T |
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ICAI SM

The quanti

ty theory of m e
thik Y oney holds

e the incorrect statement

hing that wou}d act as g
Anyt m of exchange is money
mediu has generalized purchasing
Monéy and is generally acceptable in
p Wﬁ;ment of all transactions
sete is a totally liquid asset and
Monie;’es us with means to access
:9%\;5 and services

rency which represents money
j;‘;s not necessarily have intrinsic

a)

b)

changes in the general
Commodity prices

changes in the quan
there s strong relat
money and price (eye| and the
quantity of money is the main
determinant of the price
changes in the valye
purchasing power of money are
determined first and foremost by

changes in the quantity of money in
circulation

level of
are caused by
tity of money

onship between

of money or

medium of exchange, price control,
store of value

b)
c)

d) All the above
value.
ICAlI SM
pm—— ICAI SM
: ¢ | The Cambridge approach to
Money performs a;( bor the th"Te quantity theory is also known as
2 ions mentioned below, namely
function a) Cash balance approach

Fisher’s theory of money
Classical approach

b) unit Of account, store of value , ||| 4) Keynesian Approach
provide yields _
¢) medium of exchange, unit of ICAl SM
account, store of value ' -
d) medium of exchange, unit of F(sher§ approach and the
account, income distribution 7 | Cambridge approach to demand for
money consider
ICAL SM a) money’s role in acting as a store of
3 | Demand for money is value and therefore, demand for
money  is  for storing value
a) Derived demand temporarily.
b) Direct demand b) money as a means of exchange and
¢) Real income demand therefore demand for money s
d) Inverse demand termed as for liquidity preference
| ' ¢) money das a means of transactions
‘ ICAI SM and therefore, demand for money is
tion demand for money.
Higher the , higher would d4) Eglge z:ca:;:ilboved gha i Y
| # | be of holding cash
‘ and lower will be the ICAlI SM
|
R demand for money, opportunity g8 | Real money is
| COSt, interest rate
| Price [evel ;  Opportunity cost, a) nominal money adjusted to the price
tnterest rate level
©) real income | opportunity cost, b) real national income
fieh'mhd for money c) money demanded at given rate of
4 interest rate, opportunity cost, interest
woney d) nominal GNP divided by price level

sharing or selling MVSIR's books is not allowed. It will lead
fo strict legal action with monetary penalties




lhg to Baumol

a
roach to demang f:d
]optimal average

The precautionary money
people want to hold o

c

a) as income elastic and not very {|

b) as income inelastic and

d) are determined ‘primarily. by

sensitive to rate of interest

1) a positive function of inc

the price level P

3 posrttve function of trans

costs ¢,

“(a negative function of the

. interest rate i
J Al( the above

Ome

sensitive to rate of interest, ‘

) are determined primarily by the level
of transactions they ex.pect to mak i
in the future. i

actf

Nomj

current level of transactions

10 | Speculative demand

considered demang
S as an applicatio

b)

c)

a) is not determined by interest rates eneral theory of demzngf
b) is positively related to interest rates as;ets
c) is negatively related to mterest“- :
rates

d) is determined by general priée leve
11 | According to Key

interest rate is h
a) people will demand

because the capital gaix
would be less than rewﬁ _
people will expect the intere - le. bonds and stock

to rise and bond prlce to ff}f e 1 e fNs, rB and rE , respectively:
future. : | 'l-lfn"e'and vice versa

'pportumty costs of money

to fall and bond pnce gs - (.e. bonds and stock
future. Urns, rB and rE , respectively-

Either a) or b) will happ | et ‘and vice versa
vt | fopportunity costs of mond

fhge — (.e. bonds and stock
respectively

The inventory- ~ approacn ||
to the transactions demanc - 'hs, rB and rE
: 1in constant

thd q:) above

b)

c)

d)

between money
interest rate.
explains the po
between money d
price level
Z);plamg/.,
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M1 (s the sum of

a) currency

b)

c)

d)

and coins with the people +
demand deposits of banks (Current
and Saving accounts) . + other
deposits of the RBI,

currency and cotns with the people +
demand and time deposits of banks
(Current  and, Saving accounts) +
Other deposits of the RBI,

currency inceireulation + Bankers’
deposits with the RBI 4+ Other
deposits with the RBI

none of the above

ICAI SM

Under the’ minimum reserve
system’ the central bank is

Making pdfs, pho

. ICAl SM
rve money is also known qg
central bank money
pase money

¢) high powered money

4) all the above

/_"'7 — e —— e c—

T ICAl SM

| choose the correct statement from

2 | the following

|| a) Money is deemed as somet hiha held
by the public and therefore only
currency  held by the public (e
included in money supply,

b) Money is deemed as somet hing held
by the public and therefore inter-
bank deposits are included in money
supply.

¢) Since inter-bank deposits are not
held by the public, therefore inters
bank deposits are excluded from the
measure of money supply.

d) Both (a) and (¢) above.

ICAlI SM

3 | Reserve Money is compased of

a) currency in circulation + demand
deposits of ~banks (Current and
Saving accounts) + Other deposits
with the RBI.

b) currency in circulation + Bankers’
deposits with the RBI + Other
deposits with the RBI,

¢) currency in circulation + demand
deposits of banks + Other deposits
with the RBI.

d) currency in circulation + demand
and time deposits of banks + Other
deposits with the RBI.

¢)

d)

empowered to issue currency to any
extent by keeping an equivalent
reserve of gold and foreign
securities,

empowered to issue currency to any
extent by keeping only a certain
minimum reserve of gold and
foreign securities.

empowered to issue currency in
proportion to the reserve money by
keeping only a minimum reserve of
gold and foreign securities.
empowered to issue currency to any
extent by keeping a reserve of gold
and foreign securities to the extent
of * 350 crores

The primary source of money
supply in all countries is (i

a)
b)
c)
d)

the Reserve Bank of India
the Central bank of the country
the Bank of England

the Federal Reserve

)

- “A Mohnish Vora (MVSIR)
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o | UHM the fractlonal reser,,

| a) the momy dupply s &%
ban‘h"w" functlon of reserve v, .,
11 powered money) ap

7

dmnds an

a) the decision of the centm!
based on the authority conferred on

]
r I{(

it | multiplier,
b) the decision of the central bank and || b) :Dﬁc;?;)r:woyf s,,l:l:,pf,{,': £ deg
the supply responses of the ||| e Oney (

commercial banking system. powered  money) ar

| iplier.
¢) the decision of the central bank in, . multip ’
respect of high powered money. ¢) the money wsupply i< .
d) both a) and ¢) above. ‘ i function of reserve v,

powered money) and

function efmonecy mulvi,
d) none® ofy the aboye
determinants of wmore, Supply
ne differen

6 R S i

= ; S
+E ’ b ¢ K
LA @ r'm |

Banks in the counw ammm '
§ | to maintain dtpusm Wlth
centralbank 1

a) to provide the necessary reserves for
the functioning of the central bank,
b) to meet the demand for money by
the banking system S0

¢) to meet the central bank prescribed | W)iPpositively related to the

r

as

¢ | The imoney multiplier oy
' money supply are

reserve requirements and to meet ||| reserves ratio e,
settlement obligations. ' ) Pb) negatively related to the
d) to meet the money needs for the reserves ratio e.
day to day working of sthe ¢) not related to the excesc resery
commercial banks S " ratio e,

d) proportional to the excess resery

: 'WSM _ ratio e,
If the behaviour of th@ublic and ||| 10 | ICAI Sk

2 the commercial bank: % cohstant, | | 1 The currency ratio represents

1:%;‘ A ‘mm I : L » “"V
e ﬂ i d) the behaviour of central bank in the

issue of currency.

a) the total supply Qf hommq( money b) the behaviour of central bank if
in the economy. will vary directly respect cash reserve ratio.

with the .supp(;}’ of the nominal c) the behaviour of the public.

high- powere#'*mcney issued by the d) the behaviour of commercial bank

central bank in the country. A
b) the to‘ supply of nominal money — T
in the economy will vary directly ICAI Sk
with, the rate of interest e T
inv?se Y with reserve money i 13 | The size of the money multiplier!
© the tofal supply of nominal money [} determined by —

in the economy will vary inversely (|| a) the currency ratio (c) of the public
with the SUPP[Y of high powered b) the required reserve ratio (v) 4 at
central bank, and

the excess reserve ratio
commercial banks.

all the above

Xerox, sharing or se Hmr) MVSIR's books is net allowed: "

money

d) all the above are POS'Slble ‘ . c) (e) §
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5 tells us how muych
Tew money will be created by the
panking system for q given
| increase in  the high-powered
| money-

The currency ratio
a) The excess reserve ratio (e)
b) he credit multiplier

;% .;r—he currency ratio (c)

e ICAl SM

15 | The money multiplier will be large

4 for higher currency ratio (c), lower
required reserve ratio (r) and lower
excess reserve ratio (e)

p) for constant currency r_atio (c),
higher required reserve ratio (r) and
lower excess reserve ratio (e)

¢) for lower currency ratio (c), lower
required reserve ratio (r) and lower
excess reserve ratio (e)

d) None of the above

| e

—

ICAlI SM

The ratio that relates the change in
the money supply to a given
change in the monetary base is
called the

16

a) required reserve ratio.
b) money multiplier.

¢) deposit ratio.

d) discount rate.

Astra -

ok il
,

r",'.

ol

For a given level of the mons
17 | base, an increase in # ‘
reserve ratio will dcn_,gfc

a) adecrease in the money supply.
b) an increase in the money. supply,
¢) an increase in demand deposits,
d) Nothing precise can be said

&

-
————

1y
2o

a) decrease; increase
b) increase; decrease
¢) decrease; decrease
d). increase; increase

For a given level of the me
base, an inecrease in the ¢
18 | ratio causes the money m
to _ and the money su

P

o

If commercial banks r
19 2 s
holdings of excess reserve

PG PNOTOCOPIE €ro

T (d) 25 (c) |3, (b) |4. (@ |s. i )
\8 (e |9 (a) J;ofl (a) e
14. (c) 15. (c) ;

i

a) the monetary base increases,
b) the monetary base falls.

¢) the money supply increases,
d) the money supply falls,

K|
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which of the following
function of monetary policy?

is the

2 it stable

regulate the movement of cregit o
2 the corporate sector ,
regulate the level of production B s
rices L,
regulate the availability, cost AL

@ use of money and credit

\-
regulate the exchange rate gng keep

a) increases the cost of capital and the
real cost of borrowing for firms

b) mcn(feases the cost of capital and the
real cost of borrowing for firms an
households i

¢) decreases the cost of capital and the
real cost of borrowing for firms

d) has no interest rate effect on firms
and households

ICAI SM

finot’
T ICAI SM

5 During deflation

The main objective of Mmonetary
2 | policy in India is : ,

T)_r—educe food shortages to achieve
stability

b) economic growth with price
stability

¢) overall monetary stability in the
bankihg system

d) reduction of poverty and
unemployment

ICAI SM

The monetary transmission

mechanism refers to

a) the RBI reduces the CRR in order to
enable the banks to expand credit
and  increase the supply of money
available in the economy

b) the RBI increases the CRR in order to
enable the banks to expand credit
and increase the supply of money
available in the economy

¢) the RBI reduces the CRR in order to
enable the banks to contract credit
and increase the supply of money
available in the economy

d) the RBI reduces the CRR but increase
SLR ih order to enable the banks to
contract credit and increase the

supply of money available in the
economy

@ how money gets circulated in
different sectors of the economy
POst monetary policy

b) the ratio of nominal interest and
real interest rates consequent on a
Monhetary policy

€) the' process or channels through

which ‘the evolution of monetary

aggregates affects the level of

Product and prices

d) Nohe of the above

\

ICAI SM

Which of the following statements
is correct?

a) The governor of the RBl in
consultation with the Ministry of
Finance decides the policy rate and
implements the same

b) While CRR has to be maintained by
banks as cash with the RBI, the SLR
requires holding of approved assets
by the bank itself

c) When repo rates increase, it means
that banks can now borrow money
through  open market operations
(oMO) !

d) None of the above

Mgking Pdfs, photocopies, xerox, sharing or selling MVSIR's book :
to strict legal action with monetary penalfies
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. Reverse repo operation tths
wheni

10

A

I — e
RBI provides financial
accommodation to the commercial

7 | banks through repos/reverse repos
under ¢ N
a) Market Stabilisation Scheme (MSS)
b) The Marginal Standing Facility (MSF) |
c) Liquidity Adjustment Facility (LAF).
d) Statutory Liquidity Ratio (SLR)
cal M
is a money marléét
instrument, which | gnables
g collateralised short term.

borrowing and lending through
sale/purchase operatlons m debt
instruments,

{

a) RBl borrows money from
giving them securities

banks borrow money frop,
giving them securities

banke

b) RB|

¢) banks borrow = money
overnight segment of t}
market
d) RBl bornows:money from the
government
'h J'; . :-‘:‘ 7:1
1'1 The Monetary Policy Frame .
e Agreement is on

OMO
CRR
SLR
Repo

a)
b)
c)
d)

ical sm| |

In India, the term

refers to

q) the maximum repo rate that Rri

a) théimaximum repo rate thqt RB
chc'n'ge from government

b).. the maximum tolerable
“Yate that RBI should

Wachieve price stability.

Enﬂat{
target

IC
charge from the commercial bg hks

Jd) the maximum reverse repo rate thi
RBIl can charge from the commerqigilll
banks 1\l

‘Policy . rate’

The bank rate prescribed by the RBI
in its half yearly monetary policy
statement

The CRR and SER prescrlbed by RBI in
its monetary policy statement

the fixed repo= rate quoted for
sovereign sec%nttes in the overnight
segment of  Liquidity Adjustment
Facility (LAF)

thei fmed repo rate quoted for
soveretgp*secunttes in the overnight

segment of Marginal standing
Facility (MSF) o

a)

b)

d)

SEy

An open market operation is a
instrument of monetary polic
which involves buying or selling o

. from or to the public and
banks

a) bonds and bills of exchange
b) debentures and shares
€) government securities
d) none of these
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h statement (s) is (are) true
ut Monetary Policy Committee?
" The Reserve Bank of India (RBI)
~ Act, 1934 was amended on
~ june 27, 2016, for giving a
i "' statutory backing to the
T:'-—*ff'_'_Mdnetary Policy Framework
. Agreement and for setting up
4 Monetary Policy Committee
-‘ "? The Monetary Policy
' committee shall determine the
policy rate through debate and
13 |  majority vote by a panel of
|||  experts required to achieve the
_ inflation target.
| . The Monetary Policy
~ Committee shall determine the
~ policy rate through consensus
- from the governor of RBI
| Iv. The - Monetary Policy
|  committee shall determine the
policy rate through debate and
majority vote by a panel of
bankers chosen for eth purpose

a) | only

b) land Il only
¢) lll and IV

d) Il only

Answer Key —Chapter 8 (Unit — 3)

(d) 2 (b) | 3 (c) 4. (b)

(c) RSN (D i o (©)

:II__': (b) an 3

10. (a) 113 (b)
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ICAl SM

Which of the following holds that a
4 | country can !‘ncreasewﬁgﬁyealth by

i enhcouraging gx,pai‘ﬁfs, and
[which of the following dogs s deeiaand iovo N

| yepresent a  difference between ||| a) capitalism

nternal trade and International ||| b) socialicm

| wrade? b ¢) Mercantilism

#’ﬁd,,mﬂc‘tlung [ l”l’U-HHMU CUrrencies 4) Laissez faire

) homoegenelty of customers qpq o ) ICAl SM

aurrencles )
) differences (h legal systeme 5 | Given the humber of labour hours
d) none of ;‘;’,'j‘i_‘i'_"f?’,_‘f?w A e Rl to produce cloth and grain in two
- codhtrf@s, “which  country should
ICAI SM produce grain?
TF r Wi i
g T&:.‘:h::az of absolute ddvantage - ‘Labour cost (hours) for production
o O T of one unit
a) natlenal wealth ang Power are best P W Country A | Country B
served by nereasing exports and
decreasing (mports Cloth 40 80
) natlons can nerease their economic : 40
well-being by specializing i the “raif 9

production  of goods they produce
l';!"lt;)l‘c‘ effieiently than cmycmci'tsc. g; gga:z:yg
¢) that the value or price of . a ¢) NeitheryA hor B
commodity depends exclusively onp d) Both A and B
the «:H‘)'l(?w’lt of ‘Iabour doing into its
reduction and therefore factor :
,‘,’mcs will be the same | b
d) differences in absolute advantage
explains  differences _ins factor ||| 6
ehdowments in different countries

According to the theory of
comparative advantage

ICAI SM _
a) trade, is a zero-sum game so that

the net change in wealth or benefits
among the participants is zero.
trade is not a zero-sum game so

| Which of the foll'owing theories
| advocates that countries should b)

3 g;:du“t::of' g::::e::r v:z:::iv‘: that -the het change in wealth or
| ‘ benefits among the participants is
- “""“,’?—F?Q.‘? ; positive
- ‘—‘H c) nothing definite can be said about
a) Modern theory of international trade the gains from trade
The factor endowment theory d) gains from trade depends upon
¢) The'Heekscher-Ohlin Theory factor endowment and utilization

None of the above




‘ caun’txrys avility to p,,,
good Or service g

a country’s abmty tO pro

good or serviece gy A

opportunity  cost ()

countries, ke

- Choosing a produetive .,

uses minimum . of 1},
RESsfactoy ' & ‘
| d) (a) andi(b) above

(9

lr

‘o explained the

a:-'a:r'.__fw-;’ R B, " \
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A specific tariff is

a)

b)

c)
d)

a tax on a set of specified ;mported
good

an import tax that is common to all
goods imported during a lee"
period

a specified fraction of the economlc
value of an imported good A
a tax on imports defined as an

amount of currency per unit of the

good

i 1l

‘a)

b

d)

nommal tariff rates on
materials which are greater
tariffs on manufactured PYOdu
nhominal tariff rates
manufactured products which
greater . than (tariffs on |
materials .
a tariﬁ‘ which {s e‘CG(ofed
prohibit imports of a particulg, 4
to protectfdomestic industries
none of the'above

A tariff on tmports is benef‘ cial
domestic producers of the |m?o re
good because . Y s A

a)
b)

c)
d)

can sell their product in
domestic market ,
it determines the quantity that‘ 1
be imported to the country | “Gf
it reduces their producer st

making them more efﬁcuent @

they get a part of the tarlﬁ‘ revenue’ .
it raises the price for which they i

A tax applied ﬁs’% pe

the value of .ﬂ it

a)
b)
c)
d)

preferenttal tariff
ad valorem tariff |
specific tariff ;
mixed or compound tarif

Making pdfs,

photocopies,

'their domestic markets
‘an. exporting
U restrdining the quantity c*
' that can be
,country during a specified pzricz g

) quantitative restrictions imzoszz o
the importing country's

,,;mportmg country voluntq
élggmmg the quantity of gogl
1t can be exported into ¢
htry during a specified periog

tiv
domestic firms agreeing to
quantity foreign products s

country
eX.port(_ SuT of

time

< AN ey —

.a).

¥

,-‘ ! .__Alr‘:l'ti'-;-dumlping duties are

foreigh market which are .
production costs.

) additional
lloffeet tthe effects of expor=ing =77
increased SS GuS

additional import duties sc
loffset the effects of exporting =77
unfair | charging of prices .~ ==

import duw.- SQ &S
competitivene

subsidies by government
additional import dut:::

L offset the effects of export’=
" unfair

charging of lower Pric

. the foreign market

BOtH (a) and (c) above




G‘

ICAlI SM

ntervailing duty is

ICAlI SM

= £ that aim to offset artificially
d;fpr;ces charged by exporters who
[V

34) export subsidies and tqyx

10 | Which ?f the following is not q
hon-tariff barrier. ;

a) Complex documentation

- ¢ b requirements
ggjncesswns t_r;qthc)erl;;'g*’zzszzhtry b) Import quotas on specific goods
harged by tmp . ries to ¢) Countervailing duties charged by
) cngui’e fair and market-oriented importing country
Hicing of lm_portei.products ) d) Pre shipment product ihspection and
f harged WRLIRGIEINg countries 'to certification requirements
rotect domestic industries  and
e from unfqtr' price advantage ICAl SM
arising from subsidies
; ol the above 11 | Under tariff rate quota

ICAl SM

,af) create obstacles to trade and
increase the volume of imports and
exports !

p) domestic consumers enjoy consumer
surplus because consumers must
now pay only a lower price for the
good _

¢) discourage domestic  consumers
from consuming imported foreign
goods and encourage consumption
of domestically produced ' import
substitutes

d) increase government revenues of

the importing country by more than

value of the total tariff it charges

a) countries promise to impose tariffs
Oh imports from members other
than those who are part of a
preferential trade agreement

b) a country permits an import of
limited quantities at low rates of
duty but subjects an excess amount
to a much higher rate

€)' lower tariff is charged from goods
imported from a country which is
given preferential treatment

d) none of the above

12 | Non -tariff barriers (NTBs) include
all of the following except:

Vs

B | ICAI SM

a) import quotas

b) tariffs

c) export subsidies

d) technical standards of products

9 | SPS measures and TBTs are

a) permissible under: WTO to protect
the interests of countries

b) may result in loss of competitive
ddvantage of developing countries

¢) increases the costs of compliance to
the exporting countries

d) All the above

——

Answer Key -Chapter 9 (Unit - 1)

i @ W2 b 3 | ()

(b) 5. (c) 6 i

(d) 8. (c) 9. (d)

10. (c) 1. (b) 12

Making Pdfs, photocopies, xerox, sharing or selling MVSIR's books is not allowed. 1t will lea
to strict legal action with monetary penalties







mhe following culminated

!/:the establishment of the worg
'Ir ade Organization?

he Doha Round

ICAI SM
4 ‘Bound tariff refers to
a) clubbing of tariffs "of  different
Commodities into ohe common
measure
b) the lower limit of the tariff below

yuhr’ch a hation cannot be taxing its
(mports

are imported from

e ——

a) The Tokyo Round ¢) the upper limit on the tariff that a
b ~pe Urugudy Round country can levy on a particular
o) The Kennedy Round good, according to its commitments
g The under the GATT and WTO.
/ icai sm ||| @ the limit within which the country’s
export duty should fall so that there
@ the correct statement are cheaper exports
The GATT wds meant to prevent ICAI SM
2 exploitation of poor countries by &
richer countries . 5 | The essence of ‘MFN principle’ is a
p) The GATT[ de:,,:z \‘f’u'fg f;?/gfslze?\zzgi a) equality of treatment of all member
ol I countries of WTO in respect of
aelwEllgs flk= sctial property, matters related to trade
c) All mgmpers <f wonid dee b) favour one, country, you need to
Organization are required to avoid Favolr Al Chale iy, A
JlEe f=ofa'l eypes c) every WTO member will treat all its
| @) All the guove trading partners equally without'(‘;
— : any prejudice and discrimination |
ICAI SM d) all the above & |
—|
. e Il
The ‘National treatment’ principle ICAI SM
3 | stands for Wl
The World Trade Organizatio
e (wTtO0) J
a) the procedures within the WTO for
resolving disagreemel_ﬁts about trade
policy among countries
b) the principle that imported products
are to be treated no worse m[ the[
' h oca .
gil::sestlc i < < a) has now been replaced by the GATI
1 i i o sett
) exported products are to be treated b) hgs an inbuilt r:neec;%ne;ssm & et
no worse in the domestic market disputes among 4
) was established to ensure free &
g 'ocal ones paic de internationally.
d) imported products should have the fair tra e
same tariff, no matter where they d) (b) andc) a

CA Mohnish Vora (MVSIR)

. [ & 1+ =-\_=?{"";_ ~
MQkiﬂg pdfs, photocopies, xerox, sharing or selling MVSIR's books} is not allowed
to strict legal action with monetary penalfies R
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ICAl SM

The nominal exchange
expressed in units of one
per unit of the other cy

L 2 real exchange rate adjusts
{ Based on the supply and demand :::t:gr::nt;harepﬂce
‘ model of  determination  of -
1 exchange rate, which of the a) wholly correct
following ought to cause the b) partially correct
domestic currency of Country X to ¢) wholly incorrect
appreciate against dollar? d) None of the above
a) The US decides not to import from : s
Country X Match the following by chg
b) An increase in remittances from the the term which has the |
employees who are employed abroad meaning
to their families in the home i bt
country i. floating exchange rate
¢) Increased imports by consumers of | ti. fixed exchange rate
Country X 4% iili. pegged exchange rate
d) Repayment of foreign debts by o 'iv. devaluation
L Country X - - v. appreciation
: a. depreciation
ICAl SM b. revqluat(on
c. flexible exchange rate
i
All else equal, which of. the ||| @) (i c) (i d); (iii b); (iv a))
following is true if consumers of b) (f b); (u_.a); (‘”f‘_)f (‘V,C)
2 | India develop taste for imported c) (ia)(iid ) ; (il b); (iv ¢)
commodities and decide to buy d) (i d); (ii a); (iii b); (iv c)
more from the US?
5 Choose the correct statement
a) The demand curve for dollars shifts a) An indirect quote is the numbs
to the right and Indian Rupee units of a local
appreciates _ exchangeable for one  unit
b) The supply of Us dollars shrinks and, foreign currency
therefore, import prices decrease_ b) the fixed exchange rate regime
c) The dﬁman_dhcurve;or dollars shifts sdid to be efficient and highly
;Zprgciite"s‘g t and Indian Rupee transparent.
c) A direct quote is the number O
d) The demand curve for dollars shifts uhits O,«? a e local currenc) I
'.tO the left and leads to an lncreqse exchahgeab[e foy- one unit of ¢
in exchange rate : : o
‘ orelgh currency 3
' d) Exchangde rates are generally fix-

by the central bank of the country
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: Mc » - l ; : e
Ay stha = Voly me|
’ \ - L)
- ICAI sm
3 . \
of the following statements TR R . ICAI sMm

g any point of time, qli markets
L tend to have the same exchange
[ rency appreciation o rate for a given Currency due to
)H ign'currency deprecwtttoh takes a) Hedging
ree when there is a decrease in b) Speculation
Pl‘;chome currency price of foreign c) Arbitrage
th
Ly = d) Currenc futures
G“rree_currency deprecm‘qon takes || — 4 -
) Home when there is an incregse in ICAI SM
lac home Ccurrency price of the .
theeign e cy 10 | Vehicle Currency’ refers to
o o :
);ome“‘“"e::y dep;giédil;:’lo‘“cufre;';s a) a currency that is widely used to
3 e _ i)~ denomina
Szzqreciation and implies that the
a

te international contracts
» Mmade by parties because it is the
€come national. currenc

e currency  has
?&?ﬁvely less valuable.

y of either of the
parties
g All the above b) a currency  that s traded
Interhationally and, therefore, is in
, ;-j:l- ICAI SM ) high demand
i ; S A'type of currency used in euro area
An increase in the supply of foreign forypsynchromza;on of
| 7 | exchange Jor .
I hifts the supply curve to the right d) a currency that is widely used to
S d as a consequence, the exchange denominate international contracts
- e declines Mmade by parties even when it is not
b) ;f\ti:fts the supply curve to the right the national currency of either of
and as a consequence, the exchange the parties
rate increases _
c) more units of domestic currency are ]
required to buy a unit of foreign
exchange .
|| d the domestic currency deprec_lates
| and the foreign currency appreciates |
ICAI SM
: |
8 | Currency devaluation h
4) may increase.the price of imported
Commodities and, therefore, _reduce
the international competitiveness
of domestic industries
b) may reduce export prices and
increase the internatlongl {
competitiveness of domestic
industries
) may cause a fall in the volume of
€Xports and promote consumer
welfare through increased
vailability of goods and services
9 (@) and (c) above

g
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e “j “‘f t.* ::‘3,7{ '
a) Direct investments

foreign ownership_-;O_f
facilities. R

involve flow of ‘financtd
c) Foreign direct investm

hot concerned

manufacture of good
. provision of services.
d) Portfolio capita{L.
. recipient country w

investments in factor
land, inventories etc.

b) Foreign  portfolio |

n of

. 4]
facilities {,,

pr
2f
i
.h‘

its potential for higher

institutions (e.g. W

ik i Aoty

a) A firm
issued

c)
controlling  she
electronics firm
d) None of the abo

m‘: in favour of directk‘
restment is that it tepy,

Vn()dﬂffﬁ

géess to minerals or roy ||

e

1CAI s

—_—

ollowing is a reason

g lirect thvestment?

T

|

yture of large and rapidly |
erging markets
fluence home count

ICAl SM

thr

enterprises
bove
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= ICAl SM ’F
\ investments are prohibited 10 | Vhich of the following statement

ian i by is false in respect of mn}&

(stributi ' ' [, moves
P eration and distribution a) portfolio capftal' (n general,
() waerag:snand waterways to investment in finanelal stocks,
|y Highw nd Nidhi company bonds  and other  financial
chit funds and .
: Z) Airports and air transport Ihstruments

b) is effected largely by individuals and
institutions through the mechanism
of capital market

¢) is difficult torrecover as it involves
purely long=term investments and

the investors have controlling
interest

d) investors also do nhot have apy
intention of exercising voting power

or controlling or managing the
affairs of the company,

Answer Key ~Chapter 9 (Unit - 5)
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ICAI SM

ICAI SM

e Indian industry stagnated
I:der the colonial rule because

The Foreign Investment Promotion
Board (FIPB)

:ans were Reen on building huge
dw:;tures and monuments only
rioration was caused by high
vl ices of inputs due to draught

o Indian manufactures could not
¢) lginpexce with the imports of cheap
,Cﬂachine made goods
None of the above

gtl’u

ICAl SM

liberalization

The first wave of
2 | starts in India

a)

b)

c)

d)

a government entity through which
inward investment proposals were

routed to obtain  required
government approvals

Nno more exists as the same is
replaced by a:new. regime namely
Foreign Investment Facilitation
Portal

[}
!
ho more  exists as all inwardl
1
f

i
i

investments are through automatic {|
route and need no approval Bl
is the body which connects different ||
ministries _in respect of foreign 1
portfolio investments :

) In 1951
p) In 1980’s
c) In 1990
4) In 1966

ICAI SA

FAME-India Scheme aims to

—

—

ICAI SM

The sequence of growth
3 | structural change in

economy is characterized by

and
Indian

a) The historical pattern of prominence
of sectors as agriculture, industry,

services

b) The historical pattern of prominence
of sectors as industry, services,
agriculture

¢) Unique experience of. the sequence
as agriculture, services, thdustry
d) All the above are correct

a)

b)

c)
d)

Enhance faster industrialization
through private participation
to  promote manufacturing of
electric and hybrid vehicle
technology |
to spread India’s fame among i
trading partners '
None of the above

BT

In terms of Ease of "?“ S
in 2020 India ranks 3

oS!

ICAI SM

a)
b)
c)
d)

63
77
45
None of the above

4 | Merchandise Exports from India
Scheme was replaced by -

a) Remission of Duties and Taxes on
Export Products (RODTEP) in 2021

b) National Logistics Policy (NLP) in
2020

Remission of Duties and Taxes on
EXport Products (RODTEP) in 2015

,Molcifthe above

E-NAM is -

iaki - -
KIng pdfs, photocopies, xerox sharng g

a)

b)

c)

d)

= =TF
ala WV eSS

An electronic name ecard
citizens of India h
National Agriculture
the objective of creating
national market for ae
commodities. ¥
a pan-india electronic trag
which networks the exis
mandis ¥
b) and ¢) above
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ICAl SM
17 | The hew economic policy of 1991
manifest in -
a) State led

industrialization

_ _ and
tMport substitution

ICAI SM
~ | The strategy of agricultural
15‘ development in India before dreen

revolution was -

High yielding varieties of seeds and
chemical fertilizers to boost
productivity

b) Institutional reforms such as land
reforms

0 Technological up  gradation of
agriculture

4) All the above

—

ICAl SM
The Industrial Policy Resolution
16 | (1948) aimed at -

a) Market oriented economic reforms

and opehing up of economy

b) A shift from state led

industrialization to private sector
led industrialisation

c) an expanded role for the public

sector and licensing to the private
sector

d) an expanded role of private sector a

limited role of public sector

b) Rethinking the role of markets
versus the state
¢) Emphasized the role of good
governance
d) Bringing about reduction in poverty
and redistributive justice
ICAl SM
18 The post independence economic
policy was rooted in -
a) A capitalist mode of production with
heavy industrialization
b) social and economic redistribution
and industrialization directed by the
state
c) social and economic redistribution
through private sector initiatives
d) Industrialization

led by private
entrepreneurs and redistribution by
state

l
1. (c) 2 (b) 3. (c) 4. (a) 5. (b) (L 6 (b)
7. (a) 8. (d) 9. (a) 10. () T (b) l\ 12. (b
|
& (d) 14. | (¢) 1508 (b) 16. | (c) 17 (b) ll 18. (b)




